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Two growing firms, A and B, are identical except that A company capitalizes some costs for long-lived assets that B

company expenses. For these two firms, which of the following effects of financial statement is most likely? A company
will show:

A. Greater investing cash flows. B. Higher solvency ratio.

C. Less volatile return on assets. D. None of above.

In period of rising prices and stable or increasing inventory quantities, FIFO inventory method, compared with LIFO
method, is most likely to result in;

A. Lower net income and higher taxes paid.
. Higher working capital and lower cost of goods sold.

B
C. Lower cost of goods sold and lower inventory value.
D. None of above.

Fuzzy Company enters into a long-term contract that extends over several years. All things equal, which of the following

would generally be higher in the early years of the contracts if the Company accounted for its contracts under the completed
contract method as compared to the percentage-of-completion method?

A. Liabilities. B. NetIncome C. Assets D. None of above.

Useful Company sold its equipment with a book value of $10,300,000 for $10,800,000 cash in 2001 and used the proceeds
to repay $10,800,000 of its notes payable. The company uses the indirect method of calculating cash flow from operations
(CFO). On its Statement of Cash Flows for the year ended December 31, 2001 Useful Company should report:

A.  Cash flow from operations of $500,000, cash flow from investing activities of $

10,300,000, and cash flow from financing activities of -$10,800,000.

B.  Cash flow from operations of -$500,000, cash flow from investing activities of
$10,800,000 and cash flow. from financing activities of -$10,800,000.

C. A footnote describing the transaction as offsetting.

D.

Cash flow from operations of $500,000 and cash flow from financing activities of

-$500,000 with the remainder of the transaction disclosed in a footnote as an offsetting transaction.

You are assigned to review Timber, Inc.’s and Brother, Inc.’s long-term contracting activities for the year ended December
31, 2011. You observed that Timber, Inc.’s contracts were accounted for under the percentage-of-completion method while
Brother, Inc.’s were accounted for under the completed contract method. A true picture of the status and performance of
these two companies is best obtained by analyzing their:

A. Income statements. B. Assets on the balance sheets

C. Statements of cash flows. D. Liabilities and equity on the balance sheets.

Accounting depreciation is usually not equal to true economic depreciation. The following items all hamper the ability of
accounting depreciation from approximating true economic depreciation except:

A. The effects of inflation.

B. Difficulty in precisely predicting assets' useful life.

‘C. Accelerated depreciation methods.
D

Assets are recognized with historical cost.
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The following information is regarding a plane being leased:

e The lease is a 10-year capital lease with annual payments of $800,000

o There is a guaranteed residual value of $800,000 at the end of the lease

o The present value of the lease discounted at the appropriate interest rate (10%) is $3,800,000
e The company uses the straight-line depreciation method

In the second year, the reported lease related expense is:
A. $300,000 B. $642,000 C. $680,000 D. None of above.

French Corp. leases for its own use a $10 million milling machine to produce goods for eventual sale. French is able to
negotiate the structure of the lease so as to classify it as either an operating or a capital lease. The advantages of classifying
this lease as capital lease include all of the following except:

A. Total assets are higher.

B. Cash flow from operations is reduced by a lower amount than under an operating lease.
C. Expenses are lower in the later years compared with the case of operating lease.
D.

The ability to meet bond covenants is improved.

Life Corporation, which prepares its financial statements under IFRS, writes down its inventory of electronic parts last
period from original cost of $30, 000 to net realizable value of $27,000. This period, the net realizable value has increased
to $34,000. Life Corporation should revalue this inventory to:
A. $34,000 and report a gain of $7,000 on the income statement.

$30,000 and report a gain of $3,000 on the income statement.

B.
C. $34,000 but report only a gain of $3,000 on the income statement.
D. None of above.

If bonds are initially sold at a premium and the straight-line method of amortization is used, then the interest expenses in
early years will:
A.  Exceed what it would have been had the effective-interest method of amortization been used.

Be less than what it would have been had the effective-interest method of amortization been used.

B
C.  Beequal to what it would have been had the effective-interest method of amortization been used.
D None of above. '

Consider a manufacturing company and a financial services company. Interest expense is most likely classified as a
non-operating component of income for:

A.  Both of these companies.

B.  Neither of these companies.

C.  The financial services company.
D

The manufacturing company.

Firms prepare their financial statements in accordance with International Financial Reporting Standards are least likely o:
A.  Use proportionate consolidation of a joint venture.
Recognize unrealized gains of held-for-trading securities in net income.

B
C.  Use last-in, first-out inventory accounting.
D

None of above.
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13.  Taiwan Corp.’s balance sheet as of December 31, 2011 is as follows (in $ millions):

Cash 20 Accounts Payable 20
Accounts Receivable 25 Long-term Debt 35
Inventory 15 Common Stock 40
Property, Plant & Equip.(net) 70 Retained Earnings 35
Total Assets 130 Total Liabilities & Equity 130

Marcus Corp.’s current ratio is larger than its quick ratio by:
A.20 B.3.0 C.1.0 D.40

14.  An auditor notes the following about a company:

* Beginning inventory was reported as $3,000.
¢ Costs of goods sold were reported as $9,000.
¢ Ending inventory is $7,000 (the auditor has physically verified this amount).

Which of the following statements are true?

I. Purchases must have been $13,000.
1. If the auditor discovered that beginning inventory was overstated by $1,000, then cost of goods sold must have
been understated by $1,000.
1. If the auditor discovered that ending inventory was understated by $2,000, then earnings of current period must

have been understated by $2,000.

A.land 1l B. [T and III. C. land IIL D. None of above.

15.  For the purpose of financial statement analysis, preferred stocks are better treated as debt if they are:
A.  Callable by the issuer.
B Redeemable by the preferred stock shareholders.
C.  Issued with variable dividend rate.
D

Convertible into common stocks.
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1. Beta Inc. is a retailer operating in British Columbia. Assume that there are no credit transactions; all amounts are settled in

cash. Information for Beta Inc. for the month of January 2011 is shown as below.

Date Description Quantity Unit Cost or Selling Price

Janvary 1|  Beginning inventory $ 80 $ 1S

January 5  Purchase 70 20
January 8 Sale 100 30
Janvary 15  Purchase 45 25
January 16  Purchase return 5 25
January 20  Sale 50 40
January 25  Purchase 10 10

Instructions: (12 4)

(a) Assuming Beta Inc uses periodic.inventory system, for each of the following cost flow assumptions, calculate the amount
of ending inventor.
1. FIFO 2.LIFO 3. Weighted-average cost

(b) Assuming Beta Inc uses perpetual inventory system, for each of the following cost flow assumptions, calculate the amount of

ending inventory.
1. FIFO. 2.LIFO 3. Moving-average cost (lU&H A B/ NEYBEEE—AL)
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